
43 LOAD CELL

Accessory Assembly

Load Cell

Capa.

200tf

A B C D E F G H I

230 95 188 249 38 300214 30

100tf 190 70 144 190 38 200158 20

50tf 160 50 124 170 80 200138 20

10118 1508015010436 14530tf

20tf 145 36 104 150 M12 X 1.75 80 150118 10

J

38

38

80

80

80

M12 X 1.75

M12 X 1.75

M16 X 2.0

M12 X 2.0

Capa.

200tf

A B C D E F G H I

280 200 200 40 200 200350 280

100tf 260 200 200 30 200 200280 260

50tf 220 160 160 20 160 160220 220

200190 15015015150150 20030tf

20tf 200 150 150 15 200 150 150190 200

J

280

260

220

200

200

200

220

260

280 80

60

40

30

30

K

27

23

19

14

14

L

ACCESSORY FEATURES
- High Durability
- Appropriate for Tank and Hopper application
- Designed with Safety Coefficient considerations

MANUAL
- Load cell connection with the Mounting Plate
- Fix the Mounting plate on the surface
- Check the level of the Mounting Plate
- Place the Loading Plate over the Load Cell
- Check the value with a display system

HC
Canister Load Cell

UNIT : mm

UNIT : mm

DIMENSION

B
EN

D
IN

G
 &

 S
H

EA
R

S-
B

EA
M

CA
N

IS
TE

R
PA

N
CA

K
E 

&
 M

IN
IA

TU
R

E
TR

U
CK

 &
 T

A
N

K
 W

EI
G

H
IN

G
SP

EC
IA

L 
A

P
P

LI
CA

TI
O

N
SI

N
G

LE
 P

O
IN

T 

�������!!.indd   43 2009.4.2   11:57:27 AM


